1. Kanennapusblii yueOHblii rpadux

K CeHTA6pb |29 | OkTabpb |27 Honbpb [ekabpb 29 SAuBapb |26 | ®Pespanb [23 Mapt 30 | Anpenb |27 Mawu UioHb 29 Wionb 27 ABryct Bcero | Oksa| Mpaktuka (Hen) | Moa | Focy | Ka | Bee
Y [ 1] 8]15]22|IX| 6 |13[20| X[ 3[10[17[24[ 1 [ 8 [ 15 |22|Xu| 5 [ 12|19| | 2] 9|16]| W |2|9[16]23| 1| 6]13[20] IV| 4 [11|18]25| 1| 8 |15]22|VI| 6 |13|20|VI| 3 | 10| 17| 24| He-| ua- | meH.|y4e6| no |npea|roToB|AapcT| Hu ro
P 5 2 4 1 1 5 3 5 2 ne | coB | cec-| Has |npod| amn | ka k | utor. | Ky Hen
C [7]14]21)28] X |12]19[26(XII{ 9 [16[23[{30( 7 (14| 21 [28] [ |11 [ 18[25]| 1| 8 [15[22[ Il |8]15/22]|29]| IV |12[19(26] V [10(17]24]|31] 7 |14]21]|28]VII|12]19]|26]VII] 9 |16]23]|31] nb cusi crneufnovn T’MA | atT. | nbl | enb
| 17 Hep. =| = 22 Hep. = sl ===l =|=]1=|=]|=]89]|1404] 2 11 52
Il 16 Hep. =1=/0]0 21 Hep. sl=]= === = 37 [1332] 2 | 2 11 | 52
Il [ ] 12 Hep. O[0|0| O |=]=|= 18 Hep. O|:18|8[8|8[8|=|=|=[=]|=[=]|=]=]30]108] 2| 5|5 10 | 52
v 19men | [ ] =] = =1 8[8]8[8[8[8[8[8[8[8[8[X[XIXIXIA[ATATATINTII 19 [ 684 | 1 1|ala| 224
Wroro: 125/4500| 7 7 16 | 4 4 2 34 | 199
TeopeTuyeckoe YyebHasa MpakTuka Mpepavnnomuas MpomexyTouHas KaHukynbi MoarotoBska FocypapcTBeHHas
obyueHune npakTuka no npodwmnio npakTuka aTTecTaums K rocyjapCTBeHHOM uToroBasi
cneumanbHoCTH WUTOroBOWA aTTecTaums
aTTecTauumn
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